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fails to handover the original OMR along with one carbon copy to
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This booklet consists of 100 multiple choice questions. Each
question has 4 (four) alternatives (a), (b), (c), and (d). In any case
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more than one correct answer, then choose the most appropriate
single option and darken the appropriate circle in the answer
sheet in front of the related question.

Question Booklet consists of two parts : Part—A : Generic, which
is common for all candidates and Part—B : Technical, in which
candidate has to attempt the questions as per his/her choice
(CS/ECE). Candidate has to attempt both parts compulsorily. Choice
attempted should be marked on the OMR sheet.
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PART—A

[ GENERIC ]
1. Choose the correct sentence 5. Choose the correct antonym for
from the options given below : ‘él’elgtunderhned word in the given
) , ence :
dirty — always — floor — Ellie — His indefatigable pursuit of]
1 i P
eaves— the — on — her - socks esoteric knowledge often left
(a) Ellie always leaves her dirty others bemused, yet he remained
socks on the floor. re(siolute in his intellectual
. endeavors.
(b) Her dirty socks always leaves a) Stabilit
Ell h 4
ie on the floor. b) Inscrutable
(c) The floor always leaves Ellie c) Lethargic
on her socks. d) Enervated
(d) Her socks always leaves the 6. Identify the sentence that
dirty floor on. contains a word synonymous with
ephemeral.
. Select the correct past tense. (a) ghﬁddecision ti)dbuillld a new
ridge wou ave a
L‘;tar;n——— the floor yesterday permanent impact on the
ernoon. city’s infrastructure
(@) sweeped (b) ’fl‘lhe smile don her face was
(b) swept eeting, disappearing as
(© sweep quickly as it hac? appeared
(d) None of the above (c) Thfhforest “kf)as IC}lISh and green
with an abundant array of]
wildlife
. Choose the answer option that (d : .
) ) . ¢ ) His actions were so
ﬁllentlﬁef the underlined word in predictable that we could
€ sentence. always anticipate his next
You may purchase tickets at the move
charge. the tunderhned word in the given
sentence :
(a) Interjection il“he professdor was incredibly
. . oquacious during the lecture,
(b) Conjunction elaborating on every intricate
(c) Preposition detail of the subject matter.
) Verb (@) Taciturn
er (b) Garrulous
c) Reticent
. Choose the answer option that Ed)) Laconic
t%eentslgrel‘feg::ee underlined word in 8. Arrange the given words in the
. sequence in which they occur in
The neighborhood children are the dictionary and choose the
gathering outside to play. correct sequence.
Adiect] 1. Economic 2. Earlier
(a) Adjective 3. Each 4. Edition
(b) Adverb 5. Eager
(c) Interjection (%) g, ‘1*, :1)), g, 2
o . 2 ? ? K 4
(d) Preposition EC)) 3,2, 4,1,5
d 3,5, 2,1, 4

-~
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Instruction (Q9 and Q10) : Please go
through the figure below and solve
the questions based on it. You are
given number of computers
manufactured and sold by various

companies in a year (numbers in
lakhs).

9. The number of computers
manufactured by company D is
what percent of the number of
computers manufactured by
company E?

(a) 125
(b) 112-5
(c) 85
(d) 75

10. The number of computers
manufactured by company B is
approximately what percent of
the number of computers

manufactured by all the
companies together?

(a) 22
(b) 18
() 14

(d) 26

3% (Q9 T Q10) : Fan = few mu Fort
oW 3R 3T W 3NeTRA T3H1 Sl & hi| 3! Teh
Ty ¥ fafia safr g i iR o= e seged
61 & 4 T 7 (S e H))|

9. Ul D g MiHa seeti Sl T ot E

g TfHa Seged <t @ w1 fohan whaerd
27

: - o=
(@) 125

(b) 1125

(c) 85

(d) 75

10. %ol B g0 Hfda segedi i g o
HutEl g Mfa weged H e @

o feRaeT wfeera 87
(@) 22
(b) 18
() 14
(d) 26
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11.

12.

13.

A number is divided into four
parts such that 4 times the first
part, 3 times the second part, 6
times the third part and 8 times
the fourth part are all equal. In
what ratio is the number divided?

@ 8:6:3:4

(b) 4 :3:12: 16

3
c) 4:3:6:8
8

(d 6:8:4:3

If 20% of a number n is 30 more
than 12:5% of 400, then what is
36% of n?

(a) 320
(b) 144
(c) 180
(d) 160

A fruit vendor bought some
apples and some oranges. He
bought the apples at the rate of
5 apples for ¥ 80 and 3 times as
many oranges at the rate of ¥ 50
for half a dozen. One-sixth of the
apples and one fifth of the
oranges got spoilt. He sold the
remaining apples at ¥ 60 for 3
and the remaining oranges at
T 100 for 8. Find his profit or
loss percentage approximately.

(@) 14
(b) 16
(c) 12
(d) 18

11.

12.

13.

Teh &I ol IR 9N A 39 YehR farfora
Torar ST @ o Ut W A1 4 7T, G 9T
T 3 THT, e 9T 3T 6 THT 3T < A
H1 8 T, aft SR 2| w@n i fohd
FaTa # fereira fomem 87

(@)
(b) 4 :3:12:

8:6:3:4

16

c) 4:3:6:8

(d 6:8:4:3

e foreht w@n n 1 20%, 400 % 12:5%
¥ 30 Iferh B, 1 n T 36% T B ?
(@)
(b)

()

320
144

180

(d) 160

Teh e fershal 3 9 0 31 $ Tl T
304 589 T 80 § 3R 3 AT HAR T 50
T 3T goF ol ¥ A TS| T HT BT
T 3R T =1 uTerET e e 2|
36 9 gLET T 60 H 3 3R o gL HAN
T 100 § 8 9 feu| 3qeh @v a1 =M

TR @I T Hifse
(@) 14
(b) 16
(€ 12
(d) 18

co1/40-A
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14.

15.

16.

17.

In how many different ways can
the letters of the word ‘DETAIL’
be arranged such that the vowels
occupy only the odd positions?

(2)
(b)
(©)
(d)

o W A~ W
S O 0 N

What will come in place of the
question mark in the following
number series?

112 111 119 92 156 31 ?

A metallic sphere of diameter
18 cm is drawn into a wire of
diameter 4 mm. What will be the
length of the wire in cms?

A family has 2 children. Given
that one of the children is a boy.
What is the probability that the
other child is also a boy?

14.

15.

16.

17.

&g ‘DETAIL’ % 37e @l feha 3TeTT-
T alienl § =afyd fean S Tehar @
qTfeh TR SheareT Tood TIHT W &l ?

(a) 32

(b) 48

(c) 36

(d) 60

freferfiaa Sen s@en § w7 % T
TR A7

112 111 119 92 156 31 ?

(a) 1375

(b) 287

(c) 387

(d) 247

18 Tt =TH Tt Ueh 1 < et i 4 foreft
SIE ATl qR § Wi T | aR o e
it # fopam Bl

(a) 45000

(b) 729

(c) 24300

(d) 243

U UiER § 2 §= §| ¥g feun mn ® fh
ITH Y U T ASHT & | T TSI & foh

GEU S i TS 7
(a) 1/2

(b) 1/3
(c) 2/3
(d) 3/4

C01/40-A
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18. Lalit is 80% sure he forgot his
textbook either at the Hostel or
in the Classroom. He is 40% sure
that the book is at the Hostel
and 40% sure that it is in the
Classroom. Given that Lalit

18. AfeTd ® 80% FhM 2 fF a7 7oAl
UTSIYEeh AT A BEAEE H A1 hefl H
T 1 38 40% Feh @ Toh TohaTl BHmem™
4 2 3 40% FehH & Toh 35 el 4 21 I8
@ BT o AT T8 & HE H S GhT &

already went to Classroom and ﬁmw%mwaﬁ:@
noticed his textbook is not there, 3 . 55 §29
what is the probability that it is » SRRl &l iS '
at the Hostel? (a 4/5
(@) 4/5 (b) 1
(b) 1 () 1/2
(c) 1/2 d) 2/3
(d) 2/3

19. A man has a certain number of 19. T =fth o IH F© DI T g =g Uehe
small boxes to pack into parcels. T Y w1 21 Il 98 3, 4, 541 6 g9
If he packs 3, 4, 5 or 6 in a ¥ § U T 2, O T w9 91 Y AR
parcel, he is left with one over; if o A ‘3’% 5 o
he packs 7 in a parcel, none is IR T 2, aﬁéaﬂqg”[
left over. What is the number of Srefcll| 3 fehe e Ueh St BN 7
boxes he may have to pack? (@) 301
(a) 301 (b) 401
(b) 401 (c) 106
(c) 106 d) 309
(d) 309

20. What comes next? 20. 3T T AT 27

FaN .."_'x; f ': P ."ﬁ"a. I..-'_'x.l :—I r.--""-.l x_. = ’ -""\‘-. P —.x‘. —
L e ] A M M - | . ' |_ L b .,-"I _
(a) (a)
(b) | (b) |
(c) (c)
] ]
@ [ @ |
co1/40-A (6)



Instructions (Q21-Q25) : Study the
following information carefully and
answer the questions given below.

Some people are sitting in two parallel
rows facing each other. A, B, C, D, E,
F and G are sitting in row 1 facing
north and P, Q, R, S, T, U and V are
sitting in row 2 facing south (not
necessarily in the same order).

Three persons sit between B and C
and one of them sits at an end. Q sits
fourth to the right of T. P sits to the
immediate left of U who sits in the
middle of the row. A is not a neighbor
of B. E sits to the immediate right of
the one who faces P. D faces the one
who sits second to the left of V. S
faces G. R faces the one who sits to
the immediate right of A. T does not
sit at any end.

21. Who among the following sits
second to the left of the one who
is facing T?

(a) F
(b) E
() C

(d) A

22. How many persons sit between

C and the one who faces P?
(a) One

(b) Two

(c) Three

(d) More than three

1w (Q21-Q25) : F=fiRad el w1 &= &
e 3T e feu U g & SW S
FS TN G THHIHR R § 93 & S Teh-gu
sny@ feugu i A, B, C, D, E, F3iR G
1 H I ! 31X 4@ fpT TS & 3R P, Q, R,
S, T, U 3R Vufth 2 H gfamor i 3k 4@ fu g
3 2 (3Travaes T8 & fob 3 shu O a)|
B3R C% & 9 =t 9ad & 3 3 wh
IFAASSARI Q, T I =N LI T ST 7|
P, Uh Qi ST5 3TR <341 & 11 Uitk 99 H saar
8l A, BWI 9Sil &l 21 E 38 ATk & qd a5
IR 93T 8 S P < HHAT T 8| D 39 Sk <l
AT AT 8 S Vb o135 AR gHL TIH W sadl
21 S, G 1 |1 HLdT 2| R 39 <Ak o1 HIHAT
AT B N A % qd o5 IR Saar 31 T Foreht oft
3= § &l STl
21. F=fafgd & @ & T &1 a5 = @
SAfh % o1 3 GER T T el 87
(@ F
(b)
()

(d)

E

C 3R P <l 9T o @ ARh & S
fpae =tk Sod &7

(@) T
(b) @
(c)
(d) F & 3tferes

22.

C01/40-A
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23.

24.

25.

Who among the following faces
the person who sits diagonally
opposite to S?

(@ C

(b) V

() Q

(d) T

Which of the following pairs sits
at the extreme end of the row?

() GB

(b) VC

(c) SE

(d) BD

What is the position of P with
respect to Q?

(@) Third to the right

(b) Second to the left

(c) Immediate right

(d) Third to the left

23.

24.

25.

f=afafga 8 @ 9 S & fa@ faudia s
qTeT AR T AT LT & ?

(@) C
(b) V

(c) Q

@ T

freferiaa & @ S = 1 dfth o = BR
T Sadl 87

(@) GB

(b) VC

() SE

(d) BD

Q% e Peh feufa @ 27
(@) o8 IR fe

(b) T8 3R g

(c) Teheam e 3R

(d) =18 3R dEa

co1/40-A
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26. In the following question, there

27.

is a set of three figures X, Y and
Z showing the sequence of
folding of a piece of paper. Figure
(Z) shows the manner in which
the folded paper has been cut.
These three figures are followed
by four answer figures from which
you have to choose a figure which
would most closely resemble the
unfolded form of figure (Z).

5 (6]
4] o)
X Y Z
O
(a) |° 0
[o2Ne]
(b) |6 o
oO
© | o
o o
@ |

Raju has 14 currency notes in
his pocket consisting of only ¥ 20
notes and T 10 notes. The total
money value of the notes is
< 230. The number of ¥ 10 notes
that Raju has is

(@) S5
(b) 9
(c) 6
(d) 10

26. FHREd T2 § O TRl X, Y 3R Z

27.

1 T THE & ST SISl o Toh Iohe ol HIed
1 M TN 8| P (Z) I8 qlh Bl

cTit @ FrH 4 g A i el T 2
T T ST o §1G IR I HATHIAT &
S5 @ 3TToen! T UE STRfd T & S
3T (Z) o Gol T4 & Tod 31 Tt
et 7
i (]
4] o)
X Y Z
(a) oooo
b) |q .
© | o
@

T I S9 F 14 i e &, S e
T 20 % I 3R T 10 & I &I A1l H
FA I T 230 31 T 9 T 10 %

TR e R
(@) S
(b) 9
(€ 6
(@ 10

C01/40-A
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28. A car travels 8 km in the first

29.

quarter of an hour, 6 km in the
second quarter and 16 km in the
third quarter. The average speed
of the car in km per hour over
the entire journey is

(@ 30
(b) 40
(c) 36
(d) 24
The Venn diagram shows the
preference of the student
population for leisure activities.
From the data given, the number

of students who like to read books
or play sports is

fi2)
A%

a Play Sports

Read Books
AL Uorem

(@) 44

(b) 51

(c) 79

(d) 108

28. Tsh SR Tsh T & Tgcd TS 9T § & ferrt,

29.

TEL =T W H 6 foert ofR et =tens
T ¥ 16 forrt =it 21 ot = 6 SR
3fraa wifer feret ity wer & H
(a) 30
(b) 40

(c) 36

(d) 24

I M@ HAIHW TR & e s
ST Sh Trfiehar i giar 21 few u
Jifrel 8, forare UedT A1 T Qe gHe
T o BEI H HET R

Read Books
AL UYdrem

(2)
A%

a Play Sports

(a) 44
(b) 51
(©) 79
(d) 108

co1/40-A
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30. Choose the sentence that best

concludes the

paragraph :

following

As technology continues to
advance at an unprecedented
rate, industries around the world
are

undergoing rapid

transformations. Traditional
methods of production and
communication are Dbeing
replaced by more efficient and
innovative alternatives. However,
amidst this wave of progress,
concerns about job displacement
and economic inequality have
fear that

emerged. Many

automation will lead to
widespread unemployment and
exacerbate existing socio-
economic disparities. Nevertheless,
proponents argue that
technological advancements also
present opportunities for new
industries and job creation.
Despite the uncertainties, one
thing is certain : the future of
work will be shaped by our ability
to adapt and harness the
potential of emerging

technologies.

(@) In conclusion, while
technological advancements
bring about challenges, they
also offer the promise of a

brighter future

(b) Therefore, it is imperative that
policymakers and industry
leaders collaborate to ensure
that the Dbenefits of

technology are equitably

distributed

(c) Consequently, individuals
must acquire new skills and
embrace lifelong learning to
remain competitive in the

evolving job market

(d) Thus, striking a balance

between innovation and
inclusivity is not essential for
achieving sustainable

economic growth

C01/40-A
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31. In the given question, a few

32.

statements have been given
followed by conclusions based on
them. Consider the statements
to be true and answer which of
the given conclusions logically
follow the statement.

Statements :

[. All the actors are girls.

II. All the girls are beautiful.
Conclusions :

[. All the actors are beautiful.
II. Some girls are actors.

(@) Only conclusion (I) follows
(b) Only conclusion (II) follows

(c) Both conclusions (I) and (II)
follow

(d) Neither conclusion (I) nor (II)
follows

Ramesh has brought N number
of stock of company at price B.
Current price of the stock is C
and P is the profit, Ramesh is
earning through this stock.
Which one of these is true?

(@@ P=C-B
(b) P= N*C- B
() P=C-N*B

(d P=N* (C- B)

31. feu e wea # %o U fey mu 3R 3T

32.

3MER o Ry 6T 71T 8| e ol 8 AT
3R I ¢ for feu 7w fyeepnt § @ -4
Y I dlicheh ®Y H TGN HLdT B

T ;
I &l sfiear ereferar 21

1. weft rsfrat gex &

T

L &t e get 2

1. $S Agihar e &

(a) et fosehd (1) STFETT i &
(b) *heret forsshs (I1) STTETOT <l 8

(c) S T (1) 3iR (I1) e i
H

(d) 7 ar fsd (1) 3R T & fsed
(I1) 3TTEROT ST B

TR T 6 N Wi hl §&I1 BTl W
AT 8| Rieh 1 Ia0H Iod C & 3 P
Ig AH & I W IH R o HEH
A L @l 8| FH W HH-H T= 8 ?

@@ P=C-B
(bp) P= N*C- B
() P=C-N*B

(d P= N* (C- B)

co1/40-A
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33.

34.

35.

On environment day, caretaker
of Vipul Residency decided to
plant a certain number of trees
in every house of the society. But
soon he realized that if he plants
one tree in each house, three
trees would still be left with him.
If instead he plants two trees in
each house, three houses would
be left without any tree. Find the
number of houses in the society
and the number of trees.

(a) 3 houses and 6 trees

(b) 12 houses and 16 trees

(c) 9 houses and 12 trees

(d) 7 houses and 10 trees
Choose the correct alternative.

11, 29, 55, ?, 131

(@) 110
(b) 81
(c) 89
(d) 78

What is Ram’s rank from the top
in a class of 30 students?

Statements :

I. Ram ranks three ranks above
Shravan who ranks 18th from
the bottom.

II. Ram’s rank from the top is
two ranks below Deepa who
ranks 23rd from the bottom.

I alone is sufficient while II
alone is not sufficient

(2)

(b) II alone is sufficient while I

alone is not sufficient

(c) Either I or II is sufficient

(d) Neither I nor II is sufficient

33.

34.

35.

i fead W, Taget WieE & e
I AETEd! o T T Uk (Hivad ge 1 us
T T HHT foRaT| WAl Siee & 39
TEE™ g7 Toh 3T 98 & R H Tk U
AT 8, off 3H 9E o U 5= S
3T 35 S99 98 gL | g1 Ug oIl 8,
o = for fopeft U o T8 Simd) wEnsd

T o < T 37N Ui 1 e A Hifu)
(a) 336U
(b) 12 T 3R 16 Ug
() 9= 12 Ug
(d) 7 =3 10 U8
T foreew o4

11, 29, 55, ?, 131
(a) 110

(b) 81

(c) 89

(d) 78

30 BT I T Her F TH 1 I § T
ERIR K

YA :

I W 1 €M, JE0 § o & W g,
ST W 189 WH W B

I. {9 ©H, SR J G 8 g TH
H= g, S F= ¥ 239 WH W 3

et [ 94T 2, Siefes 11 9TH 781 2
shered 11 99TH 2, Sefeh [ q4Te 78 2
I 1A 1199 3

TAIMIE N =E B

(2)
(b)
(©)

(d)

C01/40-A
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36. The average of 10 items was

37.

38.

found to be 80 but while
calculating, one of the items was
counted as 60 instead of 50.
Then the correct average would
have been

(a) 69

(b) 79-25

() 79

(d) 795

A vertical stick 20 m long casts a
shadow 10 m long on the ground.
At the same time, a tower casts
the shadow 50 m long on the
ground. Find the height of the
tower.

(a 100 m

(b) 120 m

() 25 m

(d) 200 m

Which of the following is an
irrational number?

(a) 0-12
(b) 0-1216
(c) 0-4014001400014...

(d) 0-357937

36. 10 &3t 1 3Ed 80 TR T Aok

37.

38.

TUMT S T, 3T H 8 Th &l 50 &
T 60 % €4 H AT T oM q9 wE
3nga Bl

(@) 69
(b) 79-25
(c) 79

(d) 795

20 e Tt Th @l B! 9 W 10 Hiex
el BRI St g1 I T, T IR
S W 50 Hie et BT SeAdr 21 e
61 IS A HIT

(@) 100 Hex
(b) 120 #ex
(c) 25 e

(d) 200 e

fafafiaa 9 9 - v smfe 9@
77

(a) 0-12
(b) 0-1216
(c) 0-4014001400014...

(d) 0-357937

co1/40-A
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39. Find the value of ¢, if %2 is a root 2 S
of the quadratic equation 39. = ¥, S 7S 4
2 s 3 ¢ 1 A 8, Al ¢ T HH FA1 BT ?
4 .
@ 4 (a 4
(b) 0 (b) O
© -2 @ -2
(d) 2 (d) 2
40. If in AABC and ac I} AC _ PR
. in and APOR, 5~ , T
Q BC QR 40. 3t AABC 3R APQOR T —= BC QR
tl.'lep th'ese triangles will be ﬁr,?ﬁﬁﬁwwﬁﬁ,aﬁ
similar, if
(@) LA=ZP (8) <A=2P
(b) £B=2Q (b) 2B =20
(c) ZA=ZR (c) £ZA=ZR
(d) £C=Z«4R (d) £C=Z4R
41. What is the order of rotational
. 41. TSIl Shl FU HHHTT o1 ShH w1 5 7
symmetry of the given figure? am E'Eﬁ:[ @
(a) 4 (@) 4
(b) 2 (b) 2
(c) 1 (c) 1
(d) None of the above (d) SR A U HIE T
co1/40-A (15) [P.T.O.




42. If

91998 _ 51997 _51996 , 51995 _
K 01995

then the value of K is

(@ 4

(b) 1

(c) 3

(d) S

43. The value of the expression

sin®6 + cos® 0 + 3sin? 0 cos? O is
(@ 2

(b) O

(c) 1

(d) 4

44. The average of 50 numbers is
20. If two numbers 37 and 43
are discarded, find the average
of the remaining numbers.

(a) 1888
(b) 13-76
(c) 11-88

(d) 19-16

42, 3fe

43.

a4,

91998 _ 51997 _51996 | 51995 _
1995
K.2 2,

Al K o1 187
(@) 4
(b) 1
© 3

(d) 5

THHT

sin®0 + cos® 0 + 3sin® 0 cos? @
M 1 27

(a) 2
(b) O
() 1
(d) 4

50 HEA13AT T 30Ed 20 gl Ife < q=an|
37 3R 43 81 & Il g, a1 9 T3
&1 3NEd 31 i)

(a) 1888
(b) 1376
(c) 11-88
(d) 1916

co1/40-A
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Instruction (Q45 and Q46) : Study
the following information carefully and
answer the questions given below :

In a certain code language,

‘Loss Profit Strong’ is written as
‘os if gn’

‘Profit Chart Strong’ is written as
‘rt gn if’;

‘Boat Profit Cost’ is written as ‘f
ot so’;

‘Strong Chart Profit’ is written as
‘en rt if’.

45. What is the code for ‘Chart’ in
the given code language?

(a) gn

46. If ‘Boat’ is coded as ‘so’, then
what is the code for ‘article cost’
in the given code language?

(a) le if
(b) ot le

(c) so gn

(d) if rt

59 (Q45 wd Q46) : Fr=fafed SR &
SYEh TSR i 3R = U 70 3o i & WG :

45.

46.

we fafvad i v H,

‘Loss Profit Strong’ ! ‘os if gn’ fer@r
ST &;

‘Profit Chart Strong’ &I ‘rt gn if
ot S 2;

‘Boat Profit Cost’ &I f ot so’ fer@n
ST &;

‘Strong Chart Profit’ ®l ‘gn rt if
fora S 21

& TS e TN H ‘Chart’ s U e 27
(@) gn
(b) if
(c) ot

(d) rt

Ife ‘Boat’ &l ‘so’ & ®9 § wifed feman
ST &, T &1 715 e 9T § ‘article cost’
o o e = 27

(a) leif
(b) otle
(c) sogn

(d) ifrt

co1/40-A (17)
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47.

48.

49.

50.

If *is called “+’, ¢/’ is called *’,
“’ is called ‘/’, 4’ is called “,
then 40/20-5 *10 + 5 = ?

(@ 170

(b) 160

() 165

(d) None of the above

If Reena says, “Anjali’s father
Raman is the only son of my
father-in-law Ramnath”, then
how is Piyu, who is the sister of
Anjali, related to Ramnath?

(a) Wife

(b) Sister

(c) Granddaughter
(d) None of the above

Study the following information
carefully and answer the
question given below :

In a certain code language,
bluftok means blue sky;
nokbluft means sky blue,;

okbluftme means blue sky
morning.

What could “mebluftok” mean?
(@) blue sky

(b) sky blue

() morning sky

(d) blue morning

M and N have children A and B.
F is spouse of B.

D is child of F.

P is son-in-law of N.

K is kid of P.

Who is male child of M and N?
(@) B

(b) A

(c) None

(d) Can’t be determined

47.

48.

49.

50.

a—% ‘*,ﬁ c+)’ ‘/’Eﬁ c*)’ ‘—,ﬁ c/a’ ‘+’7=|$[
> R I &, a1 40/20-5*10 + 5= ?

(a) 170
(b) 160
(c) 165
(d) STk U 9 HIg Tl

afg G et 7, @iwifer 3 forar o T EER
THATY % Fehelld 4 &7, I 3FAfeT hl Fe
TRy =T TS | R HEY 27

(a) it
(b) =&
(c)
(d) STk U 9 HIg Tl

FrfeTRea SeRt 1

IR i few U aeE 6 S S
e fafTad i v ),
bluftok 1 33d 2 blue sky;
nokbluft 1 314 2 sky blue;

okbluftme %1 314 & blue sky
morning.

“mebluftok” &1 31 &1 8 Gehdl 2P

I

(@) blue sky
(b) sky blue
() morning sky

(d) blue morning

M3 N& 9=t A 3R B2l
F, B o Shiaameft 21

D, Fehl 5= 3|

P, NI TME 2|

K, P! =1 3|

M 3T N 1 AhT i 87
@ B

(b) A

(c) =S &l

(d) Tt & foran s wehar

co1/40-A
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PART—B
[CS]

51. Which of the following belongs 51
to fourth generation languages?

(a) Assembly language
(b) Python
(c) Machine language
(d) Informix

52. Algorithms help us to understand
scalability. often draws the

line between what is feasible and 52.

what is impossible.
(a) Reliability

(b) Modularity

(c) Similarity

(d) Performance

53. The instruction pipeline of a RISC
processor has the following
stages :

Instruction Fetch, Instruction
Decode, Operand Fetch, Perform
Operation and Write Back. The
Instruction Fetch, Instruction
Decode, Operand Fetch and
Write Back stages take 1 clock
cycle each for every instruction.
Consider a sequence of 100
instructions. In the Perform
Operation stage, 40 instructions
take 3 clock cycles each, 35
instructions take 2 clock cycles
each and the remaining 25
instructions take 1 clock cycle
each Assume that there are no
data hazards and no control

53.

. Tr=fefiea 9 @ i <eh did i amwisti @
HETea 2 ?
(a) ITEEel w
(b) uTEEH
(c) WM W
(d) sBifHed
TeTIEH 8l Shollaford] ol g9 § Hee
L &l TRI: qE T HT & Tob
ye g 3T & 3/ 2
(a) Toweeiar
(b) HieetRe
(c) HMd

(d) wesh

T AN AE.TH.A. ToT Hl FERH
uTgvertsq H feferiad =7 2id & -
RN 6, T fEhie, e %,
TR fasurfed swear 3 foramn| sem
%, SEHRM fghle, 3HE & 37 forgmr
TN Th SR o foTU 1 Fedieh HISfehel
¥ 21 100 SEFRMI i Th JEA W =R
| AT Fsa1eT =wwr °, 40 EEE
T 3 FeAleh A13fhed oid &, 35 SHRM
Tk 2 FeAieh HISfehel ofd & 3R AT 25
R T 1 Fedieh TT3fhel oid 8| W
T £l

hazards.
The number of clock cycles SR S G o TSITEH 1 I L 6
required for completion of foTu 3T1a9eh Feiies @rgfenat <hl G
execution of the sequence of 3 -
instructions is
(a) 200 (a) 200
(b) 500 (b) 500
(c) 219 (c) 219
(d) 106 (d) 106

co1/40-A (19) [P.T.O.



54.

55.

56.

What does the acronym ‘IDE’
stand for in programming?

(@) Integrated

Environment

Development

(b)
()

Interactive Data Entry

Instructional
Environment

Design

(d) Input-Output Device

Consider the

declaration :
struct {
short s [5];
union {
float y;
long z;
g
Ja
Assume that objects of the type
short, float and long occupy 2
bytes, 4 bytes and 8 bytes
respectively. The memory

requirement for variable t, ignoring
alignment considerations, is

(@) 22 bytes
(b) 14 bytes
() 18 bytes
(d) 10 bytes

following C

Consider the following declaration
of a two-dimensional array
in C :

char a[100][100];

Assuming that the main memory
is byte-addressable and that the
array is stored starting from
memory address O, the address
of a[40][50] is

(a) 4040
(b) 4050
(c) 5040
(d) 5050

54.

55.

56.

SR § IDE’ &1 90 §9 91 7 ?
(@) 3RS SAATHE THARRHE
(b) Ffdea Sa1 U

(c) SERFe fSSTeT THamHie
(d) Tge-3m3Te fearsw

frfafaa feriem w® fomm == :

struct {
short s [5];
union {
float y;
long z;
ju;
s
o+ o f short, float 31 long YR
% Jifedded HUN: 2 W1geH, 4 WISCH
3R 8 SEeH od &l w@w fo=mi =i
?W, t Sfee & foTu TmR STavereRdr

()
(b)
()
(d)

22 S15eH

14 S15ed

18 sT5eH

10 sT5eH

C # formrferfiad g-gréiamer @ % federmam
TR formm =

char a[100][100];

M o foh g&7 TH S1ge-TgHad 7 3R
TTOft Bt AHHY UgH O © GUE T3t T &,
a[40][50] %1 TeH &

(@) 4040

(b) 4050

(c) 5040

(d) 5050

co1/40-A
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57.

58.

59.

What is the purpose of the ‘break’
statement in programming?

(@) To exit a loop or switch
statement prematurely

(b) To run the next iteration of a

loop

(©)
(d)

To terminate the program

To return a value from a
function

Consider the following C function

void swap (int a, int b)
{

int temp;

temp = a;

a = b;

b = temp;
b

In order to exchange the values
of two variables x and y

(a) call swap (x, y)

(b) call swap (&x, &y)

(c) swap (x,y) cannot be used as
it does not return any value

(d) swap (x,y) cannot be used as

the parameters are passed by
value

What does the term ‘bitwise

operator’ refer to in
programming?
(a) Operators that perform

operations on individual bits
of binary numbers

(b) Operators that compare two
values

(c) Operators that perform
arithmetic operations

(d) Operators that control the

flow of execution

57.

58.

59.

T | ‘break’ TeHe hl 3239 1 & 7

(a) T oW A1 feqa WeHe § 99 § g
FTeX Fepetd & g

T % 3T TG W B o oTg
T sl TATH i o fog
Teh BRI ¥ Teh HH AIdH o T

(b)

(©)
(d)

frfefed ¢ waH W fo=ar wt
void swap (int a, int b)
{

int temp;

temp = a;

a = b;

b = temp;

}
o df e x 3R y & THET I AEH-
TEH HH o g

(@)

call swap (%, y)

(b) call swap (&x, &y)

(c) swap (x, y) =l ST T&i T
Hehell Fifeh F& hIg ey Tel Sl

(d) swap (x, y) =1 T T& T

Teh ifeh UUHISK, g aT U™
B @
Tt faearss et wee o1 . 31
87
(a) TR T SIS T3 o SfSfagstat

foeg W gaeH #d 7
(b) SR S < AT HY T hedt &
(c) TR S ShOrr JTRT Hid &

(d) 3TToRe St frsared & warg ot e
U 2l

C01/40-A
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60. fseek() should be preferred over

61.

62.

rewind() mainly because

()

rewind() doesn’t work for
empty files

(b) rewind() may fail for large

files

()

In rewind, there is no way to
check if the operations
completed successfully

(d) All of the above

Which one of the following are
essential features of an object-
oriented programming language?

(i) Abstraction and

encapsulation
(i) Strictly-typedness

(iii) Type-safe property coupled
with sub-type rule

(iv) Polymorphism in the

presence of inheritance
(@) (i) and (ii) only
(b) (i) and (iv) only
(¢) (i), (i) and (iv) only
(d) (i), (i) and (iii) only
An object can have which of the
following multiplicities?
(@) Zero
(b) More than one
(c) One

(d) All of the above

60. T& &9 # fseek() H rewind() W

61.

62.

yrrfireRar €t ST =TfET wife

(a) rewind() @l BIEAl o L M
a1 Ll

(b) & HISAT & feTU rewind () 3w &l
gohdl &

() rewind o, I8 M= 1 s aliehl

Tl ¢ fob T TharaTgaeh I g3
g T

(d) STk Gt

Frteriaa o @ o it U Jtfsorde-3nfies
Tt ST Skl 3Taegeh farsieard 7

(i) TSHIFM 3TN TAHHRM

(i) Teeeh-oeg

(iil) He-2e9 TRm = Ty Jfma oEu-
T Yot

(iv) sRfe~a <t ufefe & sgewa
() et (i) 3 (ii)

(b) et (i) 3T (iv)

(c) A (i), (if) 3T (iv)

(d) s (i), (i) 3 (iii)

T fferde §, Frefias § @ Se-
TUTICHERAT, 1 Fehell @ ?

(2) IA

(b) TH @ Al

(©

(d) IwE Tt

co1/40-A
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63.

64.

65.

If a class C is derived from class
B, which is derived from class A,
through all public inheritance,
then a class C member function
can access

(a) only protected and public
data of C and B

(b) only protected and public
data of C

(c) All data of C and private data
of A and B

(d) Public and protected data of
A and B and all data of C

In C++, when the inheritance is
private, the private methods in
base class are __ in the derived
class.

(a) inaccessible

(b) accessible

(c) protected

(d) public

The feature in object-oriented
programming that allows the
same operation to be carried out

differently, depending on the
object, is

(a) Inheritance
(b) Polymorphism
(c) Over functioning

(d) Overriding

63.

64.

65.

Ife FTE C =l ™ B 8 99 foran St
7, oI of} ufeeTh sefied & mem 4,
FAE A T IH BT 8, a8 g C AR
®RME T Ugd Heedl &

(a) <had C 3R B o T 3TN Arelsi-h
)

(b) had C T Tiferd 3R AESHS 2T

() C 1 At Se1 3R A 3R B o1 Fsft
Kl

(d) A 3R B I A 3R Tefera e
3R C 1 Tt 21

C++ H, 59 $eRH TgelE BT &, Al o9F

ForE 1 ol fafeet feges /o ot
2t 2|

(a) STHETHEE

(b) TRTEEe

(c) TIeHE

(d) fsr

HAfesigre—3NNES U T g Teiwan, s
Al o ATYN T Teh & ATRIH bl
FHAT-FT qleh B B T Al &t 2,

g

(a) sRRH

(b) Uicfmifhe

(c) 3TreR herrf
(d) sfrerusfen

C01/40-A
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66.

67.

68.

69.

In Multipath inheritance, in order
to remove duplicate set of records
in child class, we

(@) write virtual functions in
parent classes

(b) write virtual function in base
class

(c) make base class as virtual
base class

(d) All of the above

What is ‘Basis of Encapsulation’?
(a) Object

(b) Class

(c) Method

(d) All of the above

A program P reads in 500
integers in the range [0..100]
representing the scores of 500
students. It then prints the
frequency of each score above 50.
What would be the best way for
P to store the frequencies?

(@) A stack of 5000 numbers
(b) A queue of 100 numbers
(c) An array of 50 numbers

(d) A linked list of 500 nodes

Suppose each set is represented
as a linked list with elements in
arbitrary order. Which of the
operations among union,
intersection, membership and
cardinality will be the slowest?
(a) Union

(b) Membership

() Cardinality

(d) Union, intersection

66.

67.

68.

69.

HEEITY G H, TTges Ford H RehieH
% gftTehe W< I B2H o foTT, &1

(a) T FoTH ¥ I3 BeRH forad &
(b) o FAH H IYA B fore@d g

(C) o FATH ! TYIACT o FATH b &Y
T &9 8

(d) IwE Tt
TABHAIH T ST FAT 37
() e

(b) ATE

(c) TUE

(d) = & @l

T M P, 500 BT o 37 I G 5T
[0.. 100] & & 500 quTfeh vgar 2| it 78

50 & H o Yo hiL <h! TG Tife e
21 P o foru vl 1 wmfed s w1
Tl ITTT allehl T I ?

(a) 5000 TE&ATAT HI Lh

(b) 100 T3 I HAR

(c) 50 T3l S uh Teoft

(d) 500 Frgd &I T forae F=H

T efifoe foh T T2 v srfata s o
el o 1Y Tefers Tt < &9 | gia R 2|
(T, $TEFIH, HERAA], HIfeATerd § |
N H fopan wed efidt gnfi 2

() FFE

(b) &I

(c) wmfEaferdt

(d) (M, SN

co1/40-A
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70. Which of the following data

71.

72.

73.

structures is well-suited for
implementing a Depth-First
Search (DFS) algorithm?

(a) Stack
(b) Queue
(c) Binary Tree
(d) Linked List

What is the worst case time
complexity of inserting n?
elements into an AVL-tree with
n elements initially?

In a depth-first traversal of a
graph G with n vertices and k
edges are marked as tree edges.
The number of connected
components in G is

(a) k
(b) k +1
() n-k-1
(d n-k

Which of the following sorting

70.

71.

72.

73.

f=fafaa & @ =9 @t o1 w=m, -
B T (SloTholHo) WATNGH i ARY L
o foTq 3wh 2 7

(a) ¥

(b) =

(c) sl

(d) Torae fore

FRH H n dcdl ol AVL-E1 # n? deait ot
gfRrfaa s f gou g =afd g5
Sfeeran F1 2 7

n IS ST G U6 % STU-HE Jodie H,
k ferml o1 & fermdl o6 = o fafea o
T 81 G H I Tkl Sl HE@I B

(@ k

(b) k +1
() n-k-1
(d n-k

Ffetfiga o & o -41 [T Teie =iad

algorithms can be used to sort a gAY SAfeAdT o 91 Ush 1eq forare = I
;a;lljo(r:r; Ilrllr;lf:)itl}l,zt with minimum TS 0 % forw v foam ST weheT 27
(a) Selection Sort (@) e e
(b) Insertion Sort (b) T T
(c) Heap Sort (c) & |ié
(d) Merge Sort (d) W g

co1/40-A (25) [P.T.O.



74.

75.

76.

77.

@W®e & @

Which searching algorithm
essentially requires the data to
be in sorted order?

(@) Linear Search

(b) Binary Search

(c) Depth-First Search
(d) Breadth First Search

Data querying, tuple insert,
remove and modification
capabilities are provided by

(a) Data Manipulation Language
(b) Data Control Language

(c) Data Definition Language
(d) None of the above

IBM’s first database management
system was the prominent
hierarchical database model
known as

()
(b)
(©)

Information Major System
Interactive Major System

Interactive
System

Management

(d)

Information Management
System

Consider
diagram.

the following ER

<&>——{ ? |
The minimum number of tables
needed to represent M, N, P, R1,
R2 is

(a) 2

(b) 3

(c) 4

(d) 5

74.

75.

76.

77.

W & @

- Wie Tenien o fore srfamia: 2o
1 ShHslg W T Bl 8 ?
(a) fafer @<=

(b) e &

() TU-BE T=

(d) s & &

forereh gRI SIgM I ST 2 7
() =1 g ohe
(b) ST HleA TS

(c) T2 ShpAvH it
(d) IHREH U B T

ATEo816THo T AT ST TSE UM,
Y@ UEIshHd oo Higd, fohaeh &9 |
ST ST 977

(a) IHMHYH TR freem

(b) sefFea ToR foem

(c) zdea Basme faren

(d) 3HHYH Heeme fawn

frfafigd ER sm@ W fomm =)
ONO

<R>—— P |
M, N, P, R1, R2 1 Ut &3 & foiw
A ATfeTeRIST <hl T &

(@)
(b)
(c)

2
3
4
(d 5
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78. What does ACID stand for in the

79.

80.

81.

context of database transactions?

(2)

Atomicity, Consistency,
Isolation, Durability

(b)

Association, Commitment,
Integrity, Dependency

(©)

Access, Control, Inheritance,
Delegation

(d) Aggregate, Constraint, Index,

Delete

A prime attribute of a relation
scheme R is an attribute that
appears

(a) in all candidate keys of R
(b)
(c)
(d)

in some candidate keys of R.
in a foreign key of R

only in the primary key
of R.

Which of the following does a
database security solution not
monitor?

(a) Database changes

(b) Sensitive data access

(c) Database complexity

(d) Security events

Which transport protocol provides

a connectionless, unreliable
service?

(a) TCP
(b) UDP
(c) IP

(d) ICMP

78. SIEH TG % T H ToHlo3TRoElo i

79.

80.

81.

w1 319 27

(a) uwefufedt, sfaeddl, smeaem,
SRfafadt

(b) THRREA, Hiteie, 3fed, feiH

(c) UHHH, hldd, TANEH, SeATeH

(d) Wi, ude, e, fecfie

fioTem whm R <1 wiE fomivan ag e
&, S fewrs ot @

(a) R ot e o
(b) R TS heree Hioai A
(c) R TH BIA Hoit H

(d) haa R I STEE et |

frfetfaa & & SH-91 U6 Seed gead

e <l fE @ e 27
(a) oo™ gfEda

(b) TGl a1 TR

(c) SIeE Sfeetdr

(d) ra g

HF-T1 EUR TEhiA Th HriaeHed,

Jfevea TaT e AT ] 7
(a) S,

(b) F.Er.4t.

(c) 3me.d.

(d) s um
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82. Assume that source S and

83.

84.

destination D are connected
through two intermediate routers
labeled R. Determine how many
times, each packet has to visit
the network layer and the data
link layer during a transmission
from S to D.

(a) Network layer — 4 times and
Data link layer — 4 times
(b) Network layer — 4 times and
Data link layer — 3 times
(c) Network layer — 4 times and
Data link layer — 6 times
(d) Network layer — 2 times and

Data link layer — 6 times

What is the maximum size of data
that the application layer can
pass on to the TCP layer below?

(a) Any size

(b) TCP header size
(c) 216 bytes

(d) 1500 bytes

Which one of the following
statements is not correct about
HTTP cookies?

(@) A cookie is a piece of code
that has the potential to
compromise the security of
an Internet user

(b) A cookie gains entry to the
user’s work area through an

HTTP header

A cookie has an expiry date
and time

(c)
(d) Cookies can be used to track
the browsing pattern of a
user at a particular site

82. HH «fifo for & S 3N 7iqew D <1 Aead

83.

84.

T3 R IS gL &I S ¥ D T o =l
o I, Tcdeh Uehe bl H2deh oial 3T 1

T o o et &R ST BRT Y

(a) eEeh TR -4 9R 3TN 271 fofeh oRR
~4 9

(b) ¥TEeh TR -4 9R 3TN 27 fofeh iR
-3 § K

(c) Tk TR -4 9R 3TN 271 fofeh iR
-6 WK

(d) ¥eEeh TR -2 9R 3R 27 fofeh oRi
-6 SN

TRARI TR T TCP ORI o1 & 51T Hehel

qTeAt 22T HATeRaH EHT 1 27

(a) 3 ot TS

(b) TCP Tt @TEat

(c) 2'° smcH

(d) 1500 sTgeH

ffafaa § @ -9 FH Woedlodlodlo

FhIet o IR T HA TR

(a) T FPehl Teh hIS 1 ThST & Il $ITIE
IURATTehd <hl FRETT & THEIAT hL Fehdl
2

(b) TH Fehl ThodlodloUlo 2L o HTEIH A
STINTehA! o 1 & H TN B &

(c) T peht ht gmTier fafer 7w T g
2

(d) FHF H 3T T fafdre dge W
ITINTeRA! sh! TSR U i 3o A
o foTu feparm T Tkt 2
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85. Which of the following is not a

CSS selector that is used to fine
the HTML elements we want to
style?

(a) Complex selectors

85.

Frafafaa 9 9 wF-a1 Howdoud, fHawy
T&1 7, ! ST 39 TWodloTHoTHo deell
=l Sl i o Toru foparn SiraT B, o8 &1

TS T IEd 87

(b) Combinator selectors (a) e e
(c) Pseudo -element selectors (b) et farciae
(d) Simple selectors (c) FeI-TferHe foetaed
(d) fouer frcraes
86. Type Hinting was provided in
version of PHP. 86. PHP  ford wi&ehtul 1 Trgy f&fém wegm i
(a) PHP 4 TS off ?
(b) PHP 5 (a) PHP 4
(c) PHP 5.3 (b) PHP S
(d) PHP 6 (c) PHP 5.3
(d) PHP 6
87. When does the function name ] .
become optional in JavaScript? 87. JavaScript H %8 HaRM I A dehicdsh
(a) When the function is defined RS
as a looping statement (a) & GRE A w Solic % &9 4
(b) When the function is defined gfeqiya foparm < 2
as expressions SN S
b) S PR I TN o &9 T G
(c) When the function is (b)
predefined foparr e 2
(d) When the function is called (c) & HaRM qAHYia grar 8
88. What is authentication in web (d) v 1 et foan e &
L o .
application security? 88. I ufon T = 3 T R?
(a) Auth'entication verif%es (a) 9 Srepat T ST
identity of a user or service ;
o e ol &
(b) Authentication controls ) ] )
access and permissions (b) Wﬂﬂwqgaﬁ(aaqﬁ?ﬁ EORERIEG]
(c) Authentication provides LT &
hashing (c) smTofieRtor BT SE e B
(d) Authentication generates a (d) iR e fefsed swmer o
digital signature Fr b
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89.

90.

91.

92.

Which of the following cloud
concept is related to pooling and
sharing of resources?

(@) Virtual Memory
(b) Service
(c) Virtualization

(d) A mobile

Which one of the following is a
Cloud Platform by Amazon?

(a) Azure
(b) AWS
(c) Cloudera

(d) All of the above

Suppose a cloud contains
software stack such as Operating
Systems, Application software etc.
This model is referred to as
model.

(@) SaaS
(b) PaaS
(c) TaaS

(d) MaaS

Which of the following is not
provided as a service in cloud
computing?

(@) Infrastructure as a service
(b) Architecture as a service
(c) Software as a service

(d) Platform as a service

89.

90.

91.

92.

Frafafga & 9 wH-o1 FEs SFgRen
T o YT 3TN TSR § Faferd & ?
(2) erfore HE

(b) afdg

(c) TSI

(d) T HIEEA

frfefad § & S-81 3T B A3
RITHH 87

(a) TR

(b) U.Ssd.TM.
(c) FAEST
(d) IwE Tt

T ifoTe fom Teh Fse o AR e,
TR HITEaRR 3G S HIFN &
B M ATSA H __ Hied % &9 A
Tefifa fepam ST 2|

(@) SaaS

(b) PaaS

(c) laaS

(d) MaaS

frfefaa & @ =8 @1 FRe Hfen |
Tl o ®Y H TG TG fhaAT ST 87

(a) WaT % &9 AT g
(b) T % ®Y H TR
(c) Tl % ®Y H AGRSRR
(d) T&T % ®9H oicHH
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93.

94.

95.

What is the purpose of
tokenization in NLP?

(a) Identifying parts of speech
(b) Removing stop words

(c) Breaking text into words or
phrases

(d) Analyzing sentiment

Suppose you have a three-class

problem where class label
Ye {0,1,2} and each training
example X has 3 binary

attributes X1,X2,X3¢€ {0,1}. How

many parameters do you need to
know to classify an example
using the Naive Bayes classifier?

(@) S
(b) 9
(¢ 11

(d) 13

Which of the following techniques
is used to reduce the
dimensionality of data in
machine learning?

(a) Principal
Analysis (PCA)

Component

(b) AdaBoost
(c) Gradient Descent

(d) Bagging

93.

94.

95.

T.UA.K). H RS 1 3299 1 82
(a) WTSUT S WTT <hl Ug=H HEAT

(b) T IEH I gIMT

(c) < I Ieq] AT SR H AT

(d) e o fererSer S

T fifoTe foh 31T9eh ITe ot —aretTer it T
2 &l a1 e Y e {0,1,2} 7 3 I
gfSteror Igreeer X H 3 argadt fasrand
X1,X2, X3 € {0,1} & 7 5FF FATIRRR
T ITANT Shleh TohENT IGTERTT ohl STTehd et
o TeTT 3AT9eh! feha ATIEST hl STHHT BT ?

(@) 5

T AT H 22T o SIZHIM hl A L
o frferRaa § & forg denieh 1 ST
foran ST 27

(a) TIfEue suie i (Rodlolo)
(b) TSR

(c) Wfeue fede

(d) Sff
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96. Suppose that you are training a

97.

98.

neural network for classification,
but you notice that the training
loss is much lower than the
validation loss. Which of the
following can be used to address
the issue?

()

Use a network with fewer
layers

(b)
()
(d)

Decrease dropout probability
Manipulate bias

Increase the size of each
hidden layer

In ethical hacking and cyber
security, there are types
of scanning.

(@) S
(b) 3
(c) 10
(d) 25
A layer-4 firewall (a device that

can look at all protocol headers
up to the transport layer) cannot

(@) block entire HTTP traffic
during 9:00 pm and 5:00 am

(b)
()

block all ICMP traffic

stop incoming traffic from
specific IP address but allow
outgoing traffic to the same
IP address

(d) block TCP traffic from a specific
user on a multi-user system

during 9:00 pm to S a.m

96. A fifsu fop 3mma afietor % forw weh =R

97.

98.

Teeeh <! TG G 1@ &, ifehd 319 glid 8
fop wftreror g1fy w=reRtor &1f <6 o |
agd v 2| Frafafed § & foreeer 3w
TH THE I A B oh ToTQ TR ST Fehall
87

(a) o T STAT Fedeh IUANT
(b) SHSATIE TYTEHT ¥FeTY

(c) oIE T agaTE hi

(d) Sk 5t g8 ORI I TR FGTE

RreheT fehT TR TESK e W,
TR ohl Th{4T B! 2

(@) 5
(b) 3
(c) 10
(d) 25

Teh W4 BRRET (Teh 3T S TS
TR e Tt TICTehicT &t <@ Tehdl 8) T
TE L T ?

(a) TG 9:00 & & g 5:00 o d%h T
HTTP ¢ftheh =l scAieh st

(b) @t ICMP 2ftheh ! sctieh T

(c) Tereht fafyrs IP ugw @ 31 aret Sftpeh
I U AfehT IEH IP TgH W S
el Sitheh ohi JTAfe S

(d) 9:00 3 & g 5:00 & b Hedl-

IR Foreen W fopeht fafdre Swimrenal
T TCP 2ftheh ol sATeh AT
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99. What is the purpose of a Denial-
of-Service attack?

Exploit a weakness in the
TCP/IP stack

(b) To execute a Trojan on a

system

To overload a system so that
it is no longer operational

(d) To shutdown services by

turning them off

100. Which type of hacker represents
the highest risk to your network?

(a) Disgruntled employees

(b) Black-hat hackers

(c) Grey-hat hackers

(d) Script kiddies

99, feIrIeT-3TTh-Hifda 318k o LTI T2 7

(@) TCP/IP % T SHASIKI ol HRIGT SSHT

(b) Toem W IA =@

(c) Tirm =l 3Tatalle ST aifes a8 =1e]
ERE

(d) a3t Bl T ATE Heh I &g BT

100. fr8 TR o B T 3TUeh A2aeh ol qad
JAferes SEH 87

(a) TS HHAR

(b) =Ah-2< Thd

() T-Be THhd

(d) fepe fRdS
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51.

52.

53.

PART—B
[ ECE ]

Which of the following
semiconductor devices operates
primarily based on the principle
of minority carrier injection and
diffusion?

(a) Bipolar Junction Transistor
(BJT)

(b) Metal-Oxide-Semiconductor
Field-Effect Transistor
(MOSFET)

() Schottky Diode

(d) Light-Emitting Diode (LED)

In the given figure, the value of
I, is

D,

(a) 6:64 mA

(b) 3:32 mA

() 3:57 mA

(d) 6:06 mA

What is the primary function of
a Zener diode in a circuit?

(@) To rectify Alternating Current
(AC) into Direct Current (DC)

(b) To amplify the signal
(c) To regulate voltage
(d) To act as a switch

51. f=fafiga # @ w-91 srlTes 3T

52.

53. fche H T SR SRS 1 T 1 1 8 ?

femufmd, [ w a2
Si R I
f ® AN -
Dy 33 kQ
Ei__;__zov Si!-lfz
I, R2
AN ®
56 kQ
(@) 664 mA
(b) 3:32mA
(c) 3:57 mA
(d) 6:06 mA

T &1 ¥ cTHEIh dh SIRH IR

TR % figia W s T g7

(a) STSHICR SR gt (BJT)

(b) HeA- IS THIchedel Hleg-3hae
gt (MOSFET)

(c) Thich! SHITS

(d) ®fEe-THfET g (LED)

(a) AC (4ftadt &) st DC (Fieft am)

T ST
(b) Tt =1 s
() dieest = FEfa s

(d) fer= = €0 d R wET
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54. Which

55.

of the following
configurations provides the
highest current gain (B) for an
NPN transistor?

(a) Common Emitter (CE)

(b) Common Base (CB)

(c) Common Collector (CC)

(d) None of the above

Which of the following statements
best describes the operation of a
JFET (Junction Field Effect
Transistor)?

(a) The conductivity between the
source and drain is controlled
by the voltage applied to the
gate

(b) The conductivity between the
source and drain is controlled
by the current flowing into

the gate

(c) The conductivity between the
source and drain is
independent of the voltage
applied to the gate

(d) The conductivity between the
source and drain is controlled
by the voltage applied to the
drain

54. fafaflga & 9 S9-w *wifFETEE,

55.

NPN 2ifsee & fore ge@ 1fersh e =
(B) &M a1 &7

(a) A THX (CE)

(b) M 5 (CB)

(c) M FHerF (CC)

(d) SHG A U HIE Tl

Feafafga d g sR-Tr=A, JFET (SRHA
Fleg Thae Zifet) & HaTeH l gad
3731 If0fd HLdT B 7

(a) B 3R T & & FTeAhdl, T T

AT diees gl FREfE il @

(b) Hd 3R I 3 s ATetehdr, e 1 F&4
arett g gry fRfta gt g

(c) B 3R T & & FTetehdl, T T
] dieest | T Bl 8

(d) Hd 3R T & = aTerhal, 1 |

] dees g I gielt 8
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56.

57.

58.

Which of the following statements
is true regarding CMOS
(Complementary Metal-Oxide-
Semiconductor) technology?

(@) CMOS circuits consume more
power compared to TTL
(Transistor-Transistor Logic)

circuits

(b) CMOS circuits use only
NMOS transistors

(c) CMOS circuits are immune
to static power dissipation

(d) CMOS circuits have high

noise immunity and low
power consumption

What is the primary function of
a multiplexer (MUX) in digital
circuits?

(@) To perform arithmetic

operations
(b)
(c)

To synchronize clock signals

To select one of several input
signals and route it to a
single output

(d) To amplify digital signals

Which of the following
components is commonly used
to amplify analog signals in
electronic circuits?

(a) Operational amplifier (Op-
amp)

(b) Microcontroller
(c) Field Effect Transistor (FET)
(d) Flip-flop

56.

57.

58.

fafafeas @ @ sH-71 H9H, CMOS
(IR e -ATHTsS - UHishgHe)

TrNfTehl & Tee o Ot 87

(a) CMOS ®féhe TTL (IfTeet-giforet
WiTeh) Aiehe hl goi1 § 3feeh Witk
T IUHIT A &

(b) CMOS @fehe shaet NMOS it

&1 ITAN Hd B
CMOS Hfhe R wifth 3uew =

()
gt aferfera 8 8

(d) CMOS Hfhe T 3= X wferer 3
Y 31 @Ud Bid 8

fefStea afehe # Aedimia®® (MUX) &1
& SR 87

(a) STERIITOTCI ETet ST
(b) =Sl Hehdl <l THHITAh HAT

(c) % $TYC Hehdll H & Teh ol T 3R
3 Thal PYE W ARG AT

(d) TeRreet dehai i sgmT

Freferftaa o @ -1 gosh Sorkii=eh afhe
T TN ehdl bl S@H o [T, HHIA:
IR ferar ST 2 7

(a) FFTRHTA TEAERR (Op-amp)
(b) HTEShIERGIER

(c) Thiee s ZIFTRT (FET)

(d) ToeTa-wAta
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59.

60.

61.

Which of the following techniques
is used for reducing the sampling
rate of a signal in digital signal
processing while preserving the
essential information?

(a) Interpolation
(b) Decimation
() Quantization

(d) Modulation

Which of the following operations
is typically performed in the pre-
processing stage of speech signal
processing?

(a) Fast Fourier Transform (FFT)

(b) Mel Frequency Cepstral
Coefficient (MFCC)
computation

(c) Down sampling

(d) Windowing

Which of the following functions
represents the Fourier Transform
of a rectangular pulse?

(a) Sinc function

(b) Gaussian function

(c) Dirac delta function

(d) Impulse function

59.

60.

61.

fefsrea fomer mafEm 4 wes fomrer <t e
T ! A T o foTT, ATEITTH TR hl
FC T@d g, MHfAREGd § 8 hia-Hl

Teheiieh ST h1 STt &7
(a) ST

(b) SEEIE

(c) wereTgereH

(d) wTgeiTH

ST Tomer NEfET o o -TEEh =
T, Frafefad @ o HH-a1 3TRIH FHT=:
fepr ST B 2

(a) R RICR g®H (FFT)

(b) Ae fraadt dwed wiufpfie
(MFCC) U1

(c) 137 dfeet

(d) foemm

frfafga o @ SH-T1 BRE AFARRR
TeH % BN TEBH o giidl 87

(a) Sinc ®RME

(b) Gaussian &M

(c) Dirac Seel BaRM

(d) ITHUeE HERM
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62.

63.

When a time-varying electric field
exists in a region of space, what
does Maxwell’s displacement
current represent?

(@) Actual movement of charges
within the material medium

(b) The flow of electric charges
across a conducting surface

(c) The rate of change of electric
flux through a surface

(d) The contribution of time-
varying electric fields to the
magnetic field

According to Faraday’s law of
electromagnetic induction, what
is the relationship between the
induced electromotive force
(e.m.f.) and the rate of change of
magnetic flux?

(@) The induced e.m.f. is directly
proportional to the rate of
change of magnetic flux

(b) The induced e.m.f. is inversely
proportional to the rate of
change of magnetic flux

(¢) The induced e.m.f. is directly
proportional to the square of
the rate of change of
magnetic flux

(d) The induced e.m.f. is
inversely proportional to the
square of the rate of change
of magnetic flux

62.

63.

Tel feret T < & § T -aiaa- o
& BidT 8, o HeEae o1 T 9 s
qIIfar B

(a) Gl Arey o ofiaR =TSl <h aTEdfaeh
Tfq

(b) T =TTt Hag IR foreqd =t
BEIE

(c) T Hag % W1 ¥ faga wered
giEdd &

(d) ghR &3 H gHI-uiEd- foea
& T AT

1S o Toreggd e SR < T o STER,
IR SIS BT (S0UHoTWo ) TR TFehi
FAed <hl TfEd <t o S= &1 TEY |7

(@) @ SoWHUH, quH FeTe i
qited gt % SHATA BT 3

(b) IR $oUHE, e TaTg o R
6 T F FAHAII BT B

(c) U@ SoWHUH, uh Fere i
e g2 o ol % FHIIT BT 8

(d) A $oTHTH, T Tl HI
e g2 s o1l % SYASHHTUTA! Biell
2
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64. Which of the following statements

65.

accurately describes the behavior
of electromagnetic waves?

(a) Electromagnetic waves
require a medium such as air
or water to propagate

(b) Electromagnetic waves can

only travel in a straight line

and cannot bend around
obstacles

(c) Electromagnetic waves

consist of oscillating electric

and magnetic fields that
propagate through vacuum at
the speed of light

(d) Electromagnetic waves are

not affected by changes in

electric and magnetic fields
in their path

Which of the following is a key
feature of FinFET transistors
making them advantageous for
modern electronic technologies?
(a) Larger gate capacitance
leading to higher power
consumption

(b) Planar structure resulting in
reduced transistor density

Improved electrostatic control
over the channel region

(d) Decreased leakage current
due to smaller gate length

64. Tfafad 4 § SF-91 %M, fogagedE

65.

T} b1 TSR ! T&l &7 § Ffvid T8 ?

(a) Torageshrr Al i wwfE 2R % fore
TH HIEEH, AW g1 AT A AT
JATIHAT Bt B

(b) foegagesha aUl waa et W@ o

T K Tehll & 3 0T & =

epteeohta A i oot a3
1T & B & 9N fatd § Jehrer <l
iy & veia B 8

(©)

(d)

e i S ey for 3R
S ot i i & S T
Bl 8

fafaftaa # @ wH-w1, fhthe gt &l

T T TR &, S 3 MY soeRie
Srenfirfrat o fow wrRIeHe s 27

(a) oS TIe HURHIH o HRUT 3= NItk @Ud

(b) HHAE AT g ufomrEsy
TITeT Bcd W &1 91T 2

(c) = & T age foga wiferes Fremmn

(d) BN TS o HRUT FETa e T HHY
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66.

67.

68.

Which of the following materials
is commonly used as a substrate
in the manufacturing of
Integrated Circuits (ICs) due to
its excellent electrical insulation
properties and thermal stability?

(@) Glass
(b) Silicon
(c) Sapphire
(d) Copper

In modern electronic
technologies, what is the primary
function of a photovoltaic cell?

(@) To amplify electrical signals
in communication systems

(b) To convert electrical energy
into mechanical energy

(c) To convert sunlight directly
into electrical energy

(d) To store electrical energy for
later use

Which of the following best
describes the primary function
of an embedded system?

(a) Performing complex
mathematical calculations in
real-time

(b) Providing user interfaces for
interacting with software
applications

(c) Controlling specific tasks
within a larger system or
device

(d) Storing and retrieving large
amounts of data for analysis
purposes

66.

67.

68.

freferftad § & SF-T1 were 3T Ik
Torea g TOT 3TN A9 T o R

Thishd Ffehe (ICs) & Fmfor & gmr=ra:
Yt & T H TN fopam ST 77

(a) T

(b) Tafereria

(c) “frem

(d) T

snyfaes sawifes feaififeat @,
BidEfedsh et <l T&T % F=1 ] 7

(a) TER vuTferl | foreld Tehdi ol sgMT
(b) forega it w1 Fifaek it & sEer
(c) T o VeI bl T forega Soolt H sige
(d) foega St ®1 w1¢ § 3w % fou
ufed e
frfefaa # & SH-41 t Tege fen
% & I T EH TS G HT 77
(a) aTEdfaeh THY § Afee TR UM

ST

(b) THEI FIIET & Y ST &
foTe SwRiTTehdt SethH e T

() Uk &S Fakem a1 3uehtur o e T3
T ! FRfE e

(d) foreeror gt < forw &St w4 6 2
TUTEd T 3T GH: ITH BT
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69.

70.

71.

Which of the following
programming languages is
commonly used for developing
embedded systems due to its
efficiency, portability and low-
level control features?

(a) Java
(b) Python
(c) C

(d) JavaScript

Which of the following design
methodologies is commonly used
in embedded systems
development for ensuring
efficient utilization of system
resources and meeting real-time
constraints?

(a) Object-Oriented Design
(OOD)

(b) Waterfall Model

(c) Model-Driven Development
(MDD)

(d) Real-Time Operating Systems

(RTOS)

Which of the following features
is commonly found in embedded
processor architectures to
enhance performance and reduce
power consumption?

(a) Multiple instruction sets
(b) High clock frequency
(c) Complex pipelining

(d) Low-power modes

69.

70.

71.

AT AT, Ticfaiierdl 3T e -waliar e
gfeenaii o SR wreies ke fasfia s
o ToTq A= 3UT i ST arelt St
T e O | - § 7

(a) mET

(b) g

(¢ C

(d) STaTERe

TR fren faem # fawew donedt &
P TN 3TN TRcAfereh 0 ht Srema

I IU B oh I A=Ia: ST Sl ST
arett fesred ugha = § @ sH-+ 27

(a) SAevsre-3nTuee feaed (OOD)
(b) dIHIA Hised

(c) HfgaA-fgam Saetudic (MDD)

(d) Tere-<=y sAfafén fen (RTOS)

TEE TEH 3Tfehed T TeIH ol 9@H
3R wifth @Ud = 1w & foie gmT=:
918 S aredt forsisar T 8 9@ wH-d 22

(@) =g frow @
(b) 3= FAT A
(c) wifewt urguemsfim
(d) Fr=-wife dig
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72.

73.

74.

Which of the following is a
primary advantage of using Linux
as the operating system for
embedded systems development?

(@) Limited community support
and resources

(b) High licensing costs making

it less accessible

(c) Open-source nature providing
access to source code and

customization

(d) Lack of support for device
drivers and hardware

compatibility

Which of the following is a
commonly used toolchain for
cross-compiling Linux applications

for embedded systems?

(a) GCC (GNU Compiler
Collection)

(b) Microsoft Visual Studio

() Xcode

(d) Eclipse

Which of the following is a key
benefit of employing embedded
systems in industrial automation?

(@) Increased manual labor
requirements

(b) Decreased system reliability
and efficiency

(¢) Improved accuracy and
precision in control processes

(d) Limited monitoring and

control capabilities

72.

73.

74.

T foreen fam o forg s firen

o &9 H foTe T ITRRT S 1 & o

= o 9 - 27

(a) Hifya T THeA 3R Twed

(b) = AR AARTa, e =g %1 g
T 8

(c) SAH-u™ Hfd, ST & HIE 3R
3R T T TEH Hl 2

(d) TeamsH grEeRi 3R BTSRR WAl
e wwedq 6 =t

e fien & o formem s =t

SHI-hITEA i o feTT MT=Ia: 39T <l
1 el geren i 3 @ - j 7

(a) GCC (GNU HUTSH hHoldH)
(b) IR forgare wfea

(c) THERIE

(d) Ul

SN T 1 weiee i w1 3T
A B J&T W = # § wF-d1 77
(a) & FE HYSTA HH SEAIRAT

(b) worelt &t fovawmiar 3R gerar A
T

T fskanat § wdiehan 3T wefioran
T gun
(d) wifea et i fesr amar

()
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75.

Which of the following
communication protocols is
commonly used in embedded
systems for real-time control and
monitoring in industrial
automation applications?

(a) Bluetooth
(b) Zigbee
(c) Ethernet/IP

(d) NFC (Near Field
Communication)

75.

TR ST ST § aRfosh 99
R 3R FRRET o foe weiee fien |
T 3T fohT ST STell TR Tieiehit
= o 9 39— 77

(a) =g
(b) Femret
(c) IUT/IP

(d) NFC (R fieg H=yfehem)

76. Which of the following statements

accurately dezlcribest thf role 'of 76. TrfRaa i & HH-a1 He, waRe R

sensors an actuators in . .

embedded systems? H HE ST 3 ﬁtz:;ﬁ ﬁ HIHA T H

aifofe shtar 87

(a) Sensors are responsible for
executing control commands, . Soi
while actuators measure (@) i I A
physical quantities in the fore fSmareR &, Stfeh e warten
environment T wiferes AENST 1 wTad @

(b) Actuators convert electrical . ]
signals into physical actions (b) WereIuet forggd Hehai ol wifceh foRamati
while sensors detect and T giafdd s €, Sefeh TH GATET
megsure changes in the 3 ufadat 1 gdr e 3 A §
environment

(c) Sensors and actuators () T IR T THH % Hd
perform 1.dentlcal functlor}s 3R wAe fwen 1 @_@ ¥ 9e
and are interchangeable in 1 for -
embedded systems T

(d) Sensors and actuators are S 3 TR e fred %
not essential components of ()
embedded systems and are ! ) .E T o T
rarely used in practical Wﬁ ERIRCRIC LRI ATy
applications i
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77. Which of the following statements

78.

best describes the role of
embedded systems in the
Internet of Things (IoT)?

(@) Embedded systems in [oT are
primarily responsible for
providing user interfaces and
graphical displays

(b) Embedded systems in IoT act
as gateways for connecting
devices to the internet and
managing communication
protocols

(c) Embedded systems in [oT are
designed to store and process

large volumes of data
generated by connected
devices

(d) Embedded systems in [oT are
not essential as IoT devices
can directly connect to the
internet without intermediary
processing

Which of the following
semiconductor fabrication
techniques is commonly used in
VLSI (Very Large Scale
Integration) technology to create
intricate patterns on silicon
wafers?

(a) Photolithography
(b) Electron beam welding
(c) Chemical vapor deposition

(d) Plasma etching

77. Tfafed 8 @ SH-91 U 3@ I®

78.

g (IoT) © wise foawen &I yfien =l
ey =1 Ii0Td ohidl g ?

(a) IoT H UrisE fa&ed §& &9 €
STANTeRdT 3eThE 3T UTfthehet fEot
M & % fotu fier 2id &

(b) IoT H Wags TR 3T ol ST
Y I HH N TIR TIehicT i
JETd S o T Ted o &9 4 S
w3

(c) IoT H wase fied siges Iuahtul
SR 3UF S °HE § ST %l gufed
3R gefer o % T fesme fong
L

(d) IoT ¥ wage foren smawas & 2
Fifh [oT ITshT0r fomT Hegadd
TG & HIY 3¢ U Hae &l
Tehd B

frefafaa o @ wH-H e FEon
qohrileh, T TH TS, (S TS Thed
SEURM) TeNfirehl T fforen= awd W Sfee
e s o T gm=ra: S9= <hr St
27

(a) WIS

(b) sciERH s afegn

(c) TEmHS 9T SHTE

(d) TS I
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79.

80.

Which of the following statements
accurately describes the
operation of a MOS (Metal-Oxide-
Semiconductor) transistor in
enhancement mode?

(a) A positive gate-to-source
voltage turns the transistor
off creating a conducting
channel between the source
and drain

(b) A negative gate-to-source

voltage turns the transistor

on depleting the conducting
channel between the source
and drain

A positive gate-to-source
voltage turns the transistor
on enhancing the conducting
channel between the source
and drain

(d) A negative gate-to-source
voltage turns the transistor
off depleting the conducting
channel between the source
and drain

Which of the following statements
accurately describes a key

79.

80.

frefafiaa 3 & HH—a1 %o, Teigde Aie
T MOS (Acd-3TedT3s -aHiehgHel)
TSR o H=Te <l &1 &1  afvid ol
87

(a) TH THWHS Te-H-TE dleed
2T 1 &g R AT B, | 3T g
& o9 Teh TTcTsh T SAdT @

THh THNHS Te-H-HH qleed
TS =BT =T 3L <A 2, | 3T 3
% <ffl =ITeteh et i HHTH T 2T

(b)

T HhWIcHS Ne-T-H1E diees
TS =BT =Te] L <A 2, §id 3T 3
o S HTeTeh Tt hl S@IdT &

Teh ThNcHS Te-H-TE diees

ISR ol 9G oL AT &, |Id 3T g3
% S ST e I FHTH o ol 8

(d)

Tehishd dfehe fesTTe § CMOS (ifeared
e - ATFss - UHishegdel) Hfehe 1 Teh

advantage of CMOS TG AT, TETAREd | | % €1 HeH HEl

(Complementary Metal-Oxide- &1 9 St et 27

Semiconductor) circuits in i

integrated circuit design? s ¢ .

(a) CMOS circuits consume high (a) CMOS EFQ% =
power due to leakage current Itk <1 ST hLd &

(b) CMOS circuits are not .
suitable for high-speed (b) CMOS ®fche I 7ifd STg %
applications o 3w 7l @

(c) CMOS circuits have low power
consumption and noise (c) CMOS @fhe & &1 Witk @Ud 3R
immunity R yferer Bt @

(d) CMOS circuits are prone to
latch-up issues in complex (d) wfew festredl §f CMOS wfhe o=i-
designs . .

8 319 GEEI3A < i &0 B &
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81.

82.

83.

Which of the following materials
is commonly wused as the
insulating layer in CMOS
fabrication processes to isolate
different components and prevent
electrical interference?

(@) Silicon
(b) Silicon dioxide (SiOQ)
(c) Silicon carbide (SiC)

(d) Silicon nitride (SizN,)
Which of the following steps is a
fundamental process in VLSI
(Very Large Scale Integration)
design responsible for defining
the layout of transistors and
interconnections on the silicon
substrate?

(@) Circuit simulation
(b) Physical design
() Logic synthesis

(d) RTL (Register Transfer Level)
design

Which of the following languages
is commonly used for
programming FPGAs (Field-
Programmable Gate Arrays) to
implement digital circuits?

(a) Python
(b) C++

(0 VHDL (VHSIC Hardware
Description Language)

(d) Java

81.

82.

83.

CMOS fmiur ufseanati & fafira weeni =i
T T 3TN T g&aatd il Uehel b folT,
gm=a:, efified § 9 S @1 gt
AT WA o &9 H I9ANT foha ST1am 2 7

(a) Taferera

(b) faferpi ergariemse (Si0,)
(c) fafere wreiige (SiC)

(@) faferria TrEgEE (Si,N,)

VLSI (3 & &het 3RH) e o
et & @ SF-a1 =2, s Aifas
gfsha 7, ST fafererta wedge W Ziforeet 31
SIHIIH b TS hl YRATNT hid h
fore iR 57

(a) Wfhe e

(b) siifees fesme

(c) iiforep Taafem

(d) RTL (FFET T oiaat) feame

fefSrest dfere w1 P & & foT FPGA
(Fiee-Tumead e W) 1 AW HH h
fore gmr=ra:, fF=fefea @ @ - vy
IUGNT T STl B ?

(a) dHrEUH
(b)

(c) VHDL (VHSIC gEaR feferaem
SIEE))

C++

(d) e
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84. Which of the following best

85.

describes the primary advantage
of FPGA (Field-Programmable
Gate Array) based design over
ASIC (Application-Specific
Integrated Circuit) design?

(a) ASIC designs offer greater
flexibility and
reconfigurability compared to
FPGA designs

FPGA designs typically have
higher power consumption
and lower performance than
ASIC designs

FPGA designs allow for faster
time-to-market and lower
development costs compared
to ASIC designs

ASIC designs provide easier
debugging and
troubleshooting capabilities
than FPGA designs

(b)

(d)

Which of the following statements
accurately describes ASIC
(Application-Specific Integrated
Circuit) design?

(a) ASICs are reconfigurable
devices that can Dbe
programmed after
manufacturing to perform
different functions

ASICs are standardized
semiconductor devices that
can be readily integrated into
various electronic products

(b)

ASICs are custom-designed
integrated circuits tailored to
perform specific functions or
tasks in electronic systems

(d) ASICs are mass-produced
integrated circuits with
general-purpose functionality
suitable for a wide range of

applications

84.

85.

= 4 $i-11 FPGA (Fleg-Tiumed e
W) AT fesgT 1 ASIC (TfeeTehs -
wifther 3AUeS Githe) TeaeT W et
AT ToH 3T AT HdT & 7

(a) ASIC feE FPGA festrei i g
T 31 e 3R I BT
F I STHAT T B B

FPGA festga § amaR ™ ASIC
festrgt it g 3 3= 9tk @ 3ik
HH TG BT &

FPGA festsd, ASIC fesmeai 6t
T | ool | SR H T0 3 %A
forsprar e i 3wl <d €

ASIC fesrsd, FPGA fesmgat i
T ® SEH i 3R FHen
e amam e i 2
frafafga & @ st9-91 %99 ASIC
(TfeeTehyH - T ftheh $elIeE fehe) Tesms
I TE ST U 9fod LT 8 7

(a) ASIC A: SIfFHR HH I TR
2 52 fafira st =1 fomrfed s &
foru famtor < s1e S T ST dehdn
2

ASIC HehIehd JT€=TeTh ITHTT &
oz faftre setereifeen Icame) o STt
Y TEhIsha fohaT ST Hehell &

ASIC ®eH-fesre forn o e
Tfehe & S gorerei=reh Junferari § fafary
ST A1 Rl 1 fsafed e % forg
R fepg T &

ASIC IHT=I-3e3 HRITTAT It o8
U T IcATCd $ERICE Hlhe B S
fafira yepr 6 STy o fofe ISk
g

(b)

(©)

(d)

(b)

(d)
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86.

87.

88.

In RTL (Register Transfer Level)
design using HDL (Hardware
Description Language), what does
the term ‘register transfer level’
refer to?

(@) Describing the behavior of
flip-flops and latches within
the circuit

(b) Specifying the connections

between input and output

ports of the circuit

(c) Detailing the physical layout

of the digital circuit on the

silicon substrate

(d) Defining the transfer of data

between registers through

combinational logic

Which of the following techniques
is commonly used in ASIC
(Application-Specific Integrated
Circuit) design verification to
ensure that the implemented
circuit meets its functional
specifications?

(a) Static Timing Analysis (STA)
(b) Behavioral simulation

(c) Formal verification

(d) Place and route optimization

Which of the following memory
types is commonly used in ASIC
(Application-Specific Integrated
Circuit) design for storing large
volumes of data with fast access
times?

(a) ROM (Read-Only Memory)

(b) SRAM (Static Random-Access
Memory)

DRAM (Dynamic Random-
Access Memory)

EEPROM (Electrically
Erasable Programmable
Read-Only Memory)

()

(d)

86.

87.

88.

HDL (gEaR fefermm est) w1 Suam

% RTL (TRt gt o) fesre #,

T TR Taet’ I1eg T 4T 31 8 7

(a) Gfhe & iR frTu-warT 3R &= &
FER BT FU HET

(b) @fehe % $AYE 3TN 33T WIS & &
R e e

(c) Tafereria weme W fefeat afhe &
s i3T=8e 1 foreror &

(d) TS ATt o H1em O W
o= 22T TAMTAT bl TR e

freafafga & & - ddfls ASIC
(TfecToneH - STt SIS Afene) feoed
AT | HHIG: U Y STt 8 drfeh
I gifead g Teh foh hraifaa dfehe 1ot
SHrTcreh el sl U a8 ?

(a) TR oma fozemor (STA)

(b) =eER fémerr

() 3TU=iEh T

(d) == 3R & 3TheH

Fraferfea & @ s-a1 9uRl YR ASIC
(ufeereher -Tafifthes $EmeE Tfche) fesrea

H € 7§ ST Fafed i o o o ugd
THY o 1Y GH=IG: 399 foman Siar &7

(a) ROM (fig-3Tett AqI)
(b) SRAM (Rfes {en-uewm mm)
(c) DRAM (SR ten-Tae BHR)

(d) EEPROM (3cifaeshell 3o
TmHeEe g-3THeft Jur)
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89.

90.

Which of the following best
describes System-on-Chip (SoC)
design?

(a) SoC design involves
integrating only one type of
component onto a single chip

(b) SoC design focuses solely on

optimizing the performance of

individual components within

a system

SoC design integrates
multiple hardware and
software components onto a
single chip

(d) SoC design is limited to the
integration of peripheral
devices with microcontrollers
on a single chip

Which of the following techniques
is commonly used in low-power
ASIC (Application-Specific
Integrated Circuit) design to
reduce power consumption?

(a) Increasing the operating

89.

90.

freafafaa o 9 <9 @1 fawa-Aa-fem
(SoC) TeTTET = T 37=31 IUF Ll
87

SoC T&3TET Faet Uh YR & =eh
%1 Th Thel =9 W Thihd L |
wiferet B B

(2)

SoC feamea waw foen & i
STHTA Teehl o TG I TR
H T Higd Bl 3

(b)

SoC &t wehet fora o g BTERR
3R T Teshi o Tehishd il

(©)

SoC feomeT e fou o ufefiw
U] <h T HTZShIShGITH oh TehIThTTT
T St B 8

(d)

Frefafaa § @ wH-H dohdie, w9 Wth
qt ASIC (Tfeethsm-wfafees s8es
Tfehe) fesre ¥ ol @ua =l w0 HH &
foTu g 3w < Sl 87

voltage to improve (a) e H Gom 5 fere sATRfeT e
performance ST

(b) Implementing clock gating to (b) ASIC Hfehedl &1 318 i & eIy
disable unused circuitry ASIC o A AL

(c) Using dynamic logic circuits . .
for critical paths (c) weeayl i % fore wfqsfier wfifreh

Tfche T ITAMT HET

(d) Adding redundant
components to improve fault (d) < wfwE § guw % R s
tolerance —
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91.

92.

93.

Which of the following steps is
typically part of the
semiconductor manufacturing
process known as ‘etching’?

(a) Deposition of a thin film layer
on the wafer surface

(b) Introduction of impurities into
the semiconductor substrate

(c) Removal of excess material to
create desired patterns on the
wafer

(d) Heating the wafer to diffuse

dopants into specific regions

Which of the following testing
techniques is commonly used in
the final assembly and testing
phase of electronic devices to
ensure their proper functionality?

()
(b)
()

Die-level testing
Boundary scan testing

Concurrent
testing

engineering

(d) Burn-in testing

Which of the following statistical
techniques is commonly used in
quality control and reliability
analysis of electronic devices to
assess the probability of failure
over time?

(@) Fault tree analysis
(b) Pareto analysis
(c) Weibull analysis

(d) Failure Mode and Effects
Analysis (FMEA)

91.

92.

93.

Frafafea @ @ -9 =01, WA |
AT fafmmor Ifshan 1 e & |
T o ®9 H TET ST 8 2

(a) IW TAE W Tk Udeil fhed Td i
ST

(b) 3refTeTeh Tedge § TRl i ufed
() B difesd Yo o o fetu 3fafes
arft =l g

(d) fafyrs &= o Sem i Hhar & fou
IR I TH T

FordRIeh ST o JfcH STHeel! 3T adieqor
IO G ITh! Tl HRISFHAT GHTEd B b
T amT=r: 3w i I aTet gheo
qop1sp TfaIflad & & HH-H 37

(a) SE-TT wdeor

(b) SESE-Tha wliequr

(c) Fwerdt gt wieror
(d) sH-37 wder

TR U <hl e T 3R
Torvaraiaran forgeraor o vy o @ faswerarn
S TYTEHT T IATehet hi o T -aTHT=Id:
ST T T STl AT deheieh
frafafea & @ wA-Ht 27

(@) QY & foreeryor

(b) el ferveryor

(c) Sz ferzeram

(d) fowerar @rg 3T yure fagawo
(FMEA)
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94. Which of the following steps is a

95.

96.

crucial part of chip production
involving the creation of
photomasks that define the circuit
patterns to be printed on silicon
wafers?

(a) Physical design

(b) Verification

(c) Lithography

(d) Packaging

Which of the following processes
is typically used in Printed
Circuit Board (PCB) fabrication
to selectively remove unwanted

copper from the substrate and
define the copper traces?

(a) Soldering
(b) Etching
(c) Plating

(d) Lamination

Which of the following steps is a
crucial part of Printed Circuit
Board (PCB) fabrication involving
the application of a thin layer of
solder mask over the copper
traces to protect them from
oxidation and facilitate soldering
of components?

(a) Etching
(b) Plating
(c) Soldering

(d) Solder mask application

94. fy=fafea § @ w-=1 =T, 9 3T

95.

96.

# wea fewm 7, e wRemEes H

o wfirer 2 < faforpia awdt W gfga
fopu I a1t |fehe Yed w1 gftTiya swtan
87

(a) ifoes feams

(b) HIOH

(c) Torermmedy

(d) ekl

Hfed Gfche a1 Fmior 5 wr=ra: fore wiska

T IWANT JFMSd el ! Hedee | i
®Y ¥ geH 3R a9 o e = iy
i o ToTu T mam 22

(a) @resiar

(b) ufem

(c) wifem

(d) e

i Hiehe a1E THT0T T Teh Hacaqul (e
frfafaga @ @ eF-a1 = g, few ae
o T39I R Uk Ut A dlest A ol
%1 B M & dllh 37 TR0 A
TR S b 3T Tehi hl Aesian § giae
77

(a) TR

(b) wifem

(c) wresiaT

(d) Hieet ARk ST
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97. Which of the following electronic

98.

packaging technologies is
commonly used to protect
Integrated Circuits (ICs) and
provide electrical connections
between the IC and the external
environment?

(a) Flip-chip packaging

(b) Die stacking

(c) Wafer-level packaging

(d) Wire bonding

Which of the following
semiconductor characterization
techniques is commonly used to
analyze the electronic properties
of materials by measuring the
response to incident light?

(@) Scanning Electron Microscopy
(SEM)

(b) X-ray Diffraction (XRD)

(c) Photoluminescence (PL)

(d) Atomic Force Microscopy
(AFM)

97. MHREd § ¥ HH-H Soiagieh JehioTT

98.

Tehri1eh ol SIS Aiched (ICs) I gufera
T@H 3R IC 3R sTed waiawo & &= faega

FHAFIE TeH i o foIU gE=Id: 39
fopa ST B 7

(a) foeTa-fau depfom
(b) T8 Tfehm
() IH-TAL Yehfomt
(d) @R ST

ffafaa 7 9 fora selamas srfirerem
Teheiteh ohT IUINT ETHIIC: STIfdd TRl <hl

fcfspan <l ATt ert & setereifaeh ol
o1 forgetsor s o fora foparm ST 27

(a) THAT SR HTZshREhIYT (SEM)

(b) TE-Y feadd (XRD)

(c) wrReIE=EE (PL)

(d) TTETY] ST HTSSHIERIYT (AFM)
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99. Which of the following
semiconductor characterization
techniques is commonly used to
determine the crystal structure
and lattice parameters of a
material?

(a) Scanning Electron Microscopy

(SEM)

(b) X-ray Diffraction (XRD)

Transmission Electron

Microscopy (TEM)

()

(d) Secondary Ion Mass

Spectrometry (SIMS)

100. Which of the following statements
accurately distinguishes between
MEMS (Micro-Electro-Mechanical
Systems) and NEMS (Nano-

99, fmfdfga ¥ @ - re=Tee waw
Tqehrteh, BT <h1 TshieeT BT=AT 3T SiTeft
el o Fulfa w0 & fou amm:
SUNT hT ST B ?

(a) THAT SoaH HTghIEHYT (SEM)

(b) TH-Y faadd (XRD)

(c) STEfSM Stz ATgshIEehIdt (TEM)
(d) Teelereh STM oM wEHd (SIMS)
100. fF=fflgd § @ S9-a1 %2F, MEMS

(ATShI-3AF I -Ahfeper faem) 31X
NEMS (I 1-3oiarel-Aehfeher fireem) &

Electro-Mechanical Systems)? off< W&l @ AR HAT & ?

(a) MEMS devices are larger in 3
size compared to NEMS (&) MEMS ST .3““: NEMS
devices SYHLUTT <hl ol | &g Bd &

b) MEMS devi t t .

(b) cvices opetate a (b) MEMS 3901, NEMS 390 &1
lower frequencies than NEMS ) T )
devices det ﬁWWW'a”%R'@ﬁ%

() MEMS devices utilize S X
microscale components while () MEMS . i
NEMS devices  utilize 3TN Hd & Fefh NEMS ST
nanoscale components AIEhS TEehl T ITNT Hd &

(d) MEMS devices are primarily .
used in electronics while (d) MEMSS3 |E|;[:|g@:[1?\qﬁgélg|i AN
NEMS devices are primarily A 37 foRd Sd & Safss NEMS
usec'l ' in aerospace TR I €Y & TR TSR
applications 5w el A 3
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